
TB(2B) Ch. 8 Laws of Integral Indices   GHS Past Paper Question Bank – Conventional Questions Page 1 of 3 
 

 

TB(2B) Ch. 8 Laws of integral indices 

Conventional Questions 

 
1. [11-12 S. Test 2] 

 Solve 
35

16
35




x
x .                                         (3 marks) 

2. [11-12 S. Test 2] 

Simplify the followings and express your answers with positive indices. 

(a) 
2132

0810

)()(

)(

abba

ba

                    (3 marks) 

(b) 
2

2

522

2

1












m

mn

n

n

              (3 marks) 

3. [11-12 Final exam #3] 

 Simplify 

23
04 












b

a
a . Express your answer with positive indices.     (3 marks) 

 
4. [11-12 Final exam #9] 

 (a) Show that   726306362
2

 .         (1 mark) 

 (b) Hence, or otherwise, solve  
72630

62
63

1




n
 for n.      (3 marks) 

 

5. [12-13 S6 Mid-year Exam, 1] 

Simplify 
32

43

)2( ba

ba




 and express your answer with positive indices. (3 marks) 

 

6. [12-13 S2 S. Test 2, 2] 
Express 13.116 as a denary number with working steps.  (2 marks) 

 

7. [12-13 S2 S. Test 2, 3] 
 How many seconds are there in 10 weeks? Express your answer in scientific notation and correct 

it to 3 significant figures. (2 marks) 
 

8. [12-13 S2 S. Test 2, 6] 
  Simplify the following expressions and express your answers with positive indices. 

 (a) 
  223

14

352

3 
















ba

ba

ba
 (3 marks) 

 (b) 
2

2

13

48

2














 nn

n

, where n is a negative integer. (3 marks) 
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9. [12-13 S2 S. Test 2, 8] 

 Solve 














55

0
3

1
3

32

2

yx

xy

 for x and y.    (3 marks) 

 

10. [12-13 S.2 Final Exam, 2] 

(a) Solve 
2

1
8 3 x . (3 marks) 

 (b) Simplify 
 
 253

52





ba

ab
 and express the answer with positive indices.          

    (2 marks) 
11. [13-14 S.2 S.Test, 2] 

 

   Without using a calculator, find the value of 20132014 1021060    and express your answer 
in scientific notation.  (2 marks) 

 
12. [13-14 S.2 S.Test, 5] 

   Simplify 
(5x2y3)2

(x  y)0 (2x2y3)3
 and express the answer with positive indices.  (3 marks) 

 
13. [13-14 S.2 S.Test, 7] 

Solve (32n1

1)(32n1

1) 80  for n.  (3 marks) 

 

14. [13-14 Final Exam, #3] 

(a)  Simplify 
 
  322

232

2




ba

ba
 and express the answer with positive indices. (2 marks) 

(b)  Solve 155 31  nn  for n. (2 marks) 

 

15. [14-15 Standardized Test #4] 
It is given that the storage of the harddisk is 2 TB and a digital song occupies 4 MB. Assume 

that 1 TB = 220 MB, how many digital songs can the harddisk store? Round off your answer to 3 

significant figures and express it in scientific notations. (2 marks) 
 

16. [14-15 Standardized Test #8] 

 Solve   2
9

21
3

1

132  


n

n . (3 marks) 
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17. [14-15 S.6 Mock Exam #1] 

Simplify 

2

5

4
12 3











b

a
b  and express your answer with positive indices. (3 marks) 

 

18. [14-15 Final Exam #12] 

(a)Simplify 
4

3

3

3

2









 
ab

ba
and express the answer with positive indices. (2 marks) 

 (b)Solve 40429 2  xx . (2 marks) 

 

19. [15-16 Final Exam #9] 

Simplify 
4

50

2

7

4














 yx

yx
and express the answer with positive indices.   (2 marks) 

 

20. [15-16 S.6 Mock Exam #1] 

Simplify 
243

4

)( ba

b




 and express your answer with positive indices.           (3 marks) 

 

21. [15-16 Standardized Test #2] 

 Simplify 
 

  121

23213

3

2


 

ba

baba
 and express the answer with positive indices. (3 marks) 

 

22. [15-16 Standardized Test #3] 

Find the value of 20152013 106103   without using a calculator, and express the answer in 

scientific notation.  (2 marks) 

 

23. [15-16 Standardized Test #6] 

 Solve the equation 321 39269   xx . (2 marks) 

 

24. [16-17 S.6 Mock Exam #1] 

 Simplify 
 54 3

3 4

a b

a b



  and express your answer with positive indices. (3 marks) 

 

~ End ~ 
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